

Exact soliton solutions of the Huxley equation by the modified $(\frac{G'}{G})$ -expansion method

N.Taghizadeh

taghizadeh@guilan.ac.ir
Department of Mathematics,
Faculty of Mathematical Sciences,
University of Guilan,
P.O.Box 1914, Rasht, Iran

N.Azadian

Nasrin_azadian@yahoo.com
Department of Mathematics,
Faculty of Mathematical Sciences,
University of Guilan,
P.O.Box 1914, Rasht, Iran

M.Najand

mona_najand@yahoo.com
Department of Mathematics,
Faculty of Mathematical Sciences,
University of Guilan,
P.O.Box 1914, Rasht, Iran

Abstract

The modified $(\frac{G'}{G})$ -expansion method is one of the effective methods to find exact travelling wave of nonlinear evolution equations. In this paper, we look for exact solutions of the Huxley equation by the modified $(\frac{G'}{G})$ -expansion method.

Mathematics Subject Classification: 35Q55; 35Q80; 35G25.

Keywords: Modified $(\frac{G'}{G})$ -expansion method; Huxley equation.

1 Introduction

In this paper, we will find exact solutions of the Huxley equation, in the form

$$u_t = u_{xx} + u(k - u)(u - 1)$$

which is a core mathematical framework for modern biophysically based neural modeling. There are many methods to solve nonlinear partial differential equations (NLPDEs), such as tanh-sech method [1–4], extended tanh method [5–8], hyperbolic function method [9], sine-cosine method [10–12], Jacobi elliptic function expansion method [13], F-expansion method [14], and the transformed rational function method [15].

Very recently, Wang et al. [16] introduced a new method called the $(\frac{G'}{G})$ -expansion method to look for traveling wave solutions of nonlinear evolution equations. The $(\frac{G'}{G})$ -expansion method is based on the assumptions that the travelling wave solutions can be expressed by a polynomial in $(\frac{G'}{G})$, and that $G = G(\xi)$ satisfies a second order linear ordinary differential equation (LODE). By using the $(\frac{G'}{G})$ -expansion method, Wang et al. successfully obtain more traveling wave solutions of four nonlinear evolution equations.

Lately, work has been done on the extensions of the $(\frac{G'}{G})$ -expansion method. For example, in [17], the method was modified to deal with the mKdV equation with variable coefficients. In [18], the method was modified to find more types of non-traveling wave and coefficient function solutions.

2 Modified $(\frac{G'}{G})$ -expansion method

Considering the nonlinear partial differential in the form

$$P(u, u_t, u_x, u_{tt}, u_{xt}, u_{xx}, \dots) = 0, \quad (1)$$

where $u = u(x, t)$ is an unknown function, P is a polynomial in $u = u(x, t)$ and its various partial derivatives, in which the highest order derivatives and nonlinear terms are involved. In the following we give the main steps of the $(\frac{G'}{G})$ -expansion method.

Step 1. Combining the independent variables x and t into one variable $\xi = x - vt$, we suppose that

$$u(x, t) = u(\xi), \quad \xi = x - vt, \quad (2)$$

the traveling wave variable (2) permits us reducing Eq.(1) to an ordinary differential equation (ODE) for $u = u(\xi)$

$$P(u, -vu', u', v^2u'', -vu'', u'', \dots) = 0, \quad (3)$$

Step 2. Suppose that the solution of ODE (3) can be expressed by a polynomial in $(\frac{G'}{G})$ as follows:

$$u(\xi) = \sum_{i=0}^m \alpha_i (\frac{G'}{G})^i + \sum_{i=1}^m \beta_i (\frac{G'}{G})^{-i}, \tag{4}$$

where $G = G(\xi)$ satisfies the second order LODE in the form

$$G'' + \lambda G' + \mu G = 0, \tag{5}$$

$\alpha_0, \alpha_1, \dots, \alpha_m, \beta_1, \dots, \beta_m, \lambda$ and μ are constants to be determined later, $\alpha_m \neq 0$, or $\beta_m \neq 0$. The positive integer m can be determined by considering the homogeneous balance between the highest order derivatives and nonlinear terms appearing in ODE (3).

Step 3. By substituting (4) into (3) and using second order LODE (5), collecting all terms with the same order of $(\frac{G'}{G})$ together, the left-hand side of Eq.(3) is converted into another polynomial in $(\frac{G'}{G})$. Equating each coefficient of this polynomial to zero, yields a set of algebraic equations for $\alpha_0, \alpha_1, \dots, \alpha_m, \beta_1, \dots, \beta_m, \lambda$ and μ .

Step 4. Assuming that the constants $\alpha_0, \alpha_1, \dots, \alpha_m, \beta_1, \dots, \beta_m, \lambda$ and μ can be obtained by solving the algebraic equations in Step 3, since the general solutions of the second order LODE (5) have been well known for us, then substituting $\alpha_0, \alpha_1, \dots, \alpha_m, \beta_1, \dots, \beta_m, v$ and the general solutions of Eq.(5) into (4) we have more travelling wave solutions of the nonlinear evolution equation (1).

3 Huxley equation

We consider the Huxley equation

$$u_t = u_{xx} + u(k - u)(u - 1), \tag{6}$$

where $k \neq 0$.

By making the transformation

$$u(x, t) = u(\xi), \quad \xi = x - vt,$$

the Eq.(6) becomes

$$-vu' - u'' + u^3 - (k + 1)u^2 + ku = 0. \tag{7}$$

Suppose that the solution of ODE (7) can be expressed by a polynomial in $(\frac{G'}{G})$ as follows:

$$u(\xi) = \sum_{i=0}^m \alpha_i (\frac{G'}{G})^i + \sum_{i=1}^m \beta_i (\frac{G'}{G})^{-i}, \tag{8}$$

where $G = G(\xi)$ satisfies the second order LODE in the form

$$G'' + \lambda G' + \mu G = 0. \quad (9)$$

Considering the homogeneous balance between $u''(\xi)$ and $u^3(\xi)$ in Eq.(7), we required that

$$m + 2 = 3m$$

then $m = 1$, so we can write (8) as

$$u(\xi) = \alpha_1 \left(\frac{G'}{G}\right) + \alpha_0 + \beta_1 \left(\frac{G'}{G}\right)^{-1}, \quad (10)$$

and therefore

$$u^2(\xi) = \alpha_1^2 \left(\frac{G'}{G}\right)^2 + 2\alpha_0\alpha_1 \left(\frac{G'}{G}\right) + (\alpha_0^2 + 2\alpha_1\beta_1) + 2\alpha_0\beta_1 \left(\frac{G'}{G}\right)^{-1} + \beta_1^2 \left(\frac{G'}{G}\right)^{-2}, \quad (11)$$

$$\begin{aligned} u^3(\xi) &= \alpha_1^3 \left(\frac{G'}{G}\right)^3 + 3\alpha_0\alpha_1^2 \left(\frac{G'}{G}\right)^2 + 3\alpha_1(\alpha_1\beta_1 + \alpha_0^2) \left(\frac{G'}{G}\right) + \alpha_0^3 + 6\alpha_0\alpha_1\beta_1 \\ &+ 3\beta_1(\alpha_0^2 + \alpha_1\beta_1) \left(\frac{G'}{G}\right)^{-1} + 3\alpha_0\beta_1^2 \left(\frac{G'}{G}\right)^{-2} + \beta_1^3 \left(\frac{G'}{G}\right)^{-3}, \end{aligned} \quad (12)$$

$$u'(\xi) = -\alpha_1 \left(\frac{G'}{G}\right)^2 - \alpha_1\lambda \left(\frac{G'}{G}\right) + (\beta_1 - \mu\alpha_1) + \beta_1\lambda \left(\frac{G'}{G}\right)^{-1} + \beta_1\mu \left(\frac{G'}{G}\right)^{-2}, \quad (13)$$

$$\begin{aligned} u''(\xi) &= 2\alpha_1 \left(\frac{G'}{G}\right)^3 + 3\alpha_1\lambda \left(\frac{G'}{G}\right)^2 + \alpha_1(\lambda^2 + 2\mu) \left(\frac{G'}{G}\right) + \alpha_1\mu\lambda + \lambda\beta_1 \\ &+ \beta_1(\lambda^2 + 2\mu) \left(\frac{G'}{G}\right)^{-1} + 3\lambda\mu\beta_1 \left(\frac{G'}{G}\right)^{-2} + 2\beta_1\mu^2 \left(\frac{G'}{G}\right)^{-3}. \end{aligned} \quad (14)$$

By substituting (10)–(14) into ODE.(7) and collecting all terms with the same power of $\left(\frac{G'}{G}\right)$ together, the left-hand side of ODE.(7) is converted into another polynomial in $\left(\frac{G'}{G}\right)$. Equating each coefficient of this polynomial to zero, yields a set of simultaneous algebraic equations for $\alpha_0, \alpha_1, \beta_1, k, v, \mu$ and λ as follows:

$$\begin{aligned} \left(\frac{G'}{G}\right)^3 &: -2\alpha_1 + \alpha_1^3 = 0, \\ \left(\frac{G'}{G}\right)^2 &: v\alpha_1 - 3\alpha_1\lambda + 3\alpha_0\alpha_1^2 - (k+1)\alpha_1^2 = 0, \\ \left(\frac{G'}{G}\right)^1 &: v\alpha_1\lambda - (\lambda^2\alpha_1 + 2\alpha_1\mu) + 3\alpha_0^2\alpha_1 + 3\alpha_1^2\beta_1 - 2(k+1)\alpha_0\alpha_1 + k\alpha_1 = 0, \\ \left(\frac{G'}{G}\right)^0 &: -v\beta_1 + v\alpha_1\mu - \alpha_1\lambda\mu - \beta_1\lambda + \alpha_0^3 + 6\alpha_0\alpha_1\beta_1 - (k+1)\alpha_0^2 - 2(k+1)\alpha_1\beta_1 + k\alpha_0 = 0, \\ \left(\frac{G'}{G}\right)^{-1} &: -v\beta_1\lambda - (2\beta_1\mu + \beta_1\lambda^2) + 3\alpha_0^2\beta_1 + 3\alpha_1\beta_1^2 - 2(k+1)\alpha_0\beta_1 + k\beta_1 = 0, \\ \left(\frac{G'}{G}\right)^{-2} &: -v\beta_1\mu - 3\beta_1\mu\lambda + 3\alpha_0\beta_1^2 - (k+1)\beta_1^2 = 0, \\ \left(\frac{G'}{G}\right)^{-3} &: -2\beta_1\mu^2 + \beta_1^3 = 0. \end{aligned}$$

Solving the algebraic equations above with aid Maple, yields

Case I:

$$\alpha_1 = \sqrt{2}, \quad \alpha_0 = \frac{\sqrt{2}(k+1) + 3\lambda - v}{3\sqrt{2}}, \quad \beta_1 = 0, \quad \mu = \frac{2(-k^2 + k - 1) + v^2 + 3\lambda^2}{12}, \tag{15}$$

λ, v and k are arbitrary constants.

By using (15), expression (10) can be written as

$$u(\xi) = \sqrt{2} \left(\frac{G'}{G} \right) + \frac{\sqrt{2}(k+1) + 3\lambda - v}{3\sqrt{2}}, \tag{16}$$

where $\xi = x - vt$ and $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$. Eq.(16) is the formula of a solution of Eq.(7).

Substituting the general solutions of Eq.(9) into Eq.(16) we have three types of traveling wave solutions of the Huxley equation as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_{1,1}(\xi) = \frac{\sqrt{2}}{2} \left(\frac{c_1 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_2 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi}{c_2 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_1 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi} \right) + \frac{2(k+1) - v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants. In particular, if $c_1 > 0$ and $c_1^2 > c_2^2$, then $u_{1,1} = u_{1,1}(\xi)$ can be written as:

$$u_{1,1}(\xi) = \frac{\sqrt{2}}{2} \tanh \left(\frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + \xi_0 \right) + \frac{2(k+1) - v\sqrt{2}}{6},$$

where $\xi_0 = \tanh^{-1} \left(\frac{c_2}{c_1} \right)$.

When $\lambda^2 - 4\mu < 0$,

$$u_{1,2}(x, t) = \frac{\sqrt{2}}{2} \left(\frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi} \right) + \frac{2(k+1) - v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

When $\lambda^2 - 4\mu = 0$,

$$u_{1,3}(x, t) = \frac{\sqrt{2}c_2}{c_1 + c_2\xi} + \frac{2(k+1) - v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

Case II:

$$\alpha_1 = -\sqrt{2}, \quad \alpha_0 = \frac{\sqrt{2}(k+1) - 3\lambda + v}{3\sqrt{2}}, \quad \beta_1 = 0, \quad \mu = \frac{2(-k^2 + k - 1) + v^2 + 3\lambda^2}{12}, \tag{17}$$

λ, v and k are arbitrary constants.

By using (17), expression (10) can be written as

$$u(\xi) = -\sqrt{2}\left(\frac{G'}{G}\right) + \frac{\sqrt{2}(k+1) - 3\lambda + v}{3\sqrt{2}}, \tag{18}$$

where $\xi = x - vt$ and $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$. Eq.(18) is the formula of a solution of Eq.(7).

Substituting the general solutions of Eq.(9) into Eq.(18) we have three types of traveling wave solutions of the Huxley equation as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_{2,1}(\xi) = -\frac{\sqrt{2}}{2} \left(\frac{c_1 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_2 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi}{c_2 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_1 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi} \right) + \frac{2(k+1) + v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

If $c_1 > 0$ and $c_1^2 > c_2^2$, then $u_{2,1} = u_{2,1}(\xi)$ can be written as:

$$u_{2,1}(\xi) = -\frac{\sqrt{2}}{2} \tanh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + \xi_0\right) + \frac{2(k+1) + v\sqrt{2}}{6},$$

where $\xi_0 = \tanh^{-1}\left(\frac{c_2}{c_1}\right)$.

When $\lambda^2 - 4\mu < 0$,

$$u_{2,2}(x, t) = -\frac{\sqrt{2}}{2} \left(\frac{-c_1 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi}{c_1 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi} \right) + \frac{2(k+1) + v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

When $\lambda^2 - 4\mu = 0$,

$$u_{2,3}(x, t) = -\frac{\sqrt{2}c_2}{c_1 + c_2\xi} + \frac{2(k+1) + v\sqrt{2}}{6},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

Case III:

$$\alpha_1 = 0, \quad \alpha_0 = \frac{\sqrt{2}(k+1) + 3\lambda + v}{3\sqrt{2}}, \quad \beta_1 = \sqrt{2}\mu, \quad \mu = \frac{2(-k^2 + k - 1) + v^2 + 3\lambda^2}{12}, \tag{19}$$

λ, v and k are arbitrary constants.

By using (19), expression (10) can be written as

$$u(\xi) = \frac{\sqrt{2}(k+1) + 3\lambda + v}{3\sqrt{2}} + \sqrt{2}\mu\left(\frac{G'}{G}\right)^{-1}, \tag{20}$$

where $\xi = x - vt$ and $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$. Eq.(20) is the formula of a solution of Eq.(7).

Substituting the general solutions of Eq.(9) into Eq.(20) we have three types of traveling wave solutions of the Huxley equation as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_{3,1}(\xi) = \frac{2(k+1) + 3\lambda + v}{3\sqrt{2}} + 2\sqrt{2}\mu \left(\frac{c_1 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_2 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi}{c_2 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_1 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi} - \lambda \right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants. If $c_1 > 0$ and $c_1^2 > c_2^2$, then $u_{3,1} = u_{3,1}(\xi)$ can be written as:

$$u_{3,1}(\xi) = \frac{2(k+1) + 3\lambda + v}{3\sqrt{2}} + 2\sqrt{2}\mu \left(\tanh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + \xi_0\right) - \lambda \right)^{-1},$$

where $\xi_0 = \tanh^{-1}\left(\frac{c_2}{c_1}\right)$.

When $\lambda^2 - 4\mu < 0$,

$$u_{3,2}(x, t) = \frac{2(k+1) + 3\lambda + v}{3\sqrt{2}} + 2\sqrt{2}\mu \left(\frac{-c_1 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi}{c_1 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi} - \lambda \right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants. When $\lambda^2 - 4\mu = 0$,

$$u_{3,3}(x, t) = \frac{2(k+1) + 3\lambda + v}{3\sqrt{2}} + \sqrt{2}\mu \left(\frac{c_2}{c_1 + c_2\xi} - \frac{1}{2}\lambda \right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

Case IV:

$$\alpha_1 = 0, \quad \alpha_0 = \frac{\sqrt{2}(k+1) - 3\lambda - v}{3\sqrt{2}}, \quad \beta_1 = -\sqrt{2}\mu, \quad \mu = \frac{2(-k^2 + k - 1) + v^2 + 3\lambda^2}{12}, \tag{21}$$

λ, v and k are arbitrary constants.

By using (21), expression (10) can be written as

$$u(\xi) = \frac{\sqrt{2}(k+1) - 3\lambda - v}{3\sqrt{2}} - \sqrt{2}\mu \left(\frac{G'}{G} \right)^{-1}, \tag{22}$$

where $\xi = x - vt$ and $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$. Eq.(22) is the formula of a solution of Eq.(7).

Substituting the general solutions of Eq.(9) into Eq.(22) we have three types of traveling wave solutions of the Huxley equation as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_{4,1}(\xi) = \frac{2(k+1) - 3\lambda - v}{3\sqrt{2}} - 2\sqrt{2}\mu \left(\frac{c_1 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_2 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi}{c_2 \sinh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi + c_1 \cosh \frac{1}{2}\sqrt{\lambda^2 - 4\mu}\xi} - \lambda \right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants. If $c_1 > 0$ and $c_1^2 > c_2^2$, then $u_{4,1} = u_{4,1}(\xi)$ can be written as:

$$u_{4,1}(\xi) = \frac{2(k+1) - 3\lambda - v}{3\sqrt{2}} - 2\sqrt{2}\mu(\tanh(\frac{1}{2}\sqrt{\lambda^2 - 4\mu\xi + \xi_0}) - \lambda)^{-1},$$

where $\xi_0 = \tanh^{-1}(\frac{c_2}{c_1})$.
When $\lambda^2 - 4\mu < 0$,

$$u_{4,2}(x, t) = \frac{2(k+1) - 3\lambda - v}{3\sqrt{2}} - 2\sqrt{2}\mu\left(\frac{-c_1 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi}{c_1 \cos \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \sin \frac{1}{2}\sqrt{4\mu - \lambda^2}\xi} - \lambda\right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants. When $\lambda^2 - 4\mu = 0$,

$$u_{4,3}(x, t) = \frac{2(k+1) - 3\lambda - v}{3\sqrt{2}} - \sqrt{2}\mu\left(\frac{c_2}{c_1 + c_2\xi} - \frac{1}{2}\lambda\right)^{-1},$$

where $\xi = x - vt$, $\mu = \frac{2(-k^2+k-1)+v^2+3\lambda^2}{12}$ and c_1, c_2 are arbitrary constants.

4 Conclusion

In this paper, the modified ($\frac{G'}{G}$)-expansion method was applied successfully for solving the Huxley equation. Thus, we can say that the proposed method can be extended to solve the problems of nonlinear partial differential equations which arising in the theory of solitons and other areas.

ACKNOWLEDGEMENTS. Authors thank from reviewers.

References

- [1] W.X. Ma, Travelling wave solutions to a seventh order generalized KdV equation, Phys. Lett. A. 1993, 180, 221 – 224.
- [2] W. Malfliet, Solitary wave solutions of nonlinear wave equations, Amer. J. Phys. 1992, 60(7), 650 – 654.
- [3] A.H. Khater, W. Malfliet, D.K. Callebaut and E.S. Kamel, The tanh method, a simple transformation and exact analytical solutions for nonlinear reactiondiffusion equations, Chaos Solitons Fractals 2002, 14(3), 513 – 522.

- [4] A.M. Wazwaz, Two reliable methods for solving variants of the KdV equation with compact and noncompact structures. *Chaos Solitons Fractals*, 2006, 28(2), 454 – 462.
- [5] W. X. Ma and B. Fuchssteiner, Explicit and exact solutions to a Kolmogorov- Petrovskii-Piskunov equation, *Int. J. Non-Linear Mech.* 1996, 31, 329 – 338.
- [6] S.A. El-Wakil and M.A. Abdou , New exact travelling wave solutions using modified extended tanh-function method, *Chaos Solitons Fractals*, 2007, 31(4), 840 – 852.
- [7] E. Fan, Extended tanh-function method and its applications to nonlinear equations, *Phys. Lett. A.* 2000, 277(4 – 5), 212 – 218.
- [8] A.M. Wazwaz, The tanh-function method: Solitons and periodic solutions for the Dodd-Bullough-Mikhailov and the Tzitzeica-Dodd-Bullough equations, *Chaos Solitons and Fractals* 2005, 25(1), 55 – 63.
- [9] T.C. Xia ,B. Li and H.Q. Zhang, New explicit and exact solutions for the Nizhnik- Novikov-Vesselov equation, *Appl. Math. E-Notes*, 2001, 1, 139 – 142.
- [10] A.M. Wazwaz, The sine-cosine method for obtaining solutions with compact and noncompact structures, *Appl. Math. Comput.* 2004, 159(2), 559– 576.
- [11] A.M. Wazwaz, A sine-cosine method for handling nonlinear wave equations, *Math. Comput. Modelling*, 2004, 40(5 – 6), 499 – 508.
- [12] E. Yusufoglu and A. Bekir, Solitons and periodic solutions of coupled nonlinear evolution equations by using Sine-Cosine method, *Internat. J. Comput. Math.* 2006, 83(12), 915 – 924.
- [13] M. Inc and M. Ergut, Periodic wave solutions for the generalized shallow water wave equation by the improved Jacobi elliptic function method, *Appl. Math. E-Notes* 2005, 5, 89 – 96.
- [14] Zhang Sheng, The periodic wave solutions for the $(2 + 1)$ dimensional Konopelchenko-Dubrovsy equations, *Chaos Solitons Fractals*, 2006, 30, 1213 – 1220.
- [15] W. X. Ma and J.-H. Lee, A transformed rational function method and exact solutions to the $(3 + 1)$ -dimensional Jimbo-Miwa equation, *Chaos Solitons Fractals*, 2009, 42, 1356 – 1363

- [16] ML. Wang, XZ Li and JL. Zhang, The $(\frac{G'}{G})$ -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, *Phys Lett A* 2008, 372, 417 – 423.
- [17] S. Zhang, JL. Tong and W. Wang, A generalized $(\frac{G'}{G})$ -expansion method for the mKdV equation with variable coefficients, *Phys Lett A* 2008, 372, 2254 – 2257.
- [18] J. Zhang, XL Wei and YJ. Lu, A generalized $(\frac{G'}{G})$ -expansion method and its applications. *Phys Lett A* 2008, 372, 3653 – 3658.

Received: June, 2012